A =P \%Biﬁ‘ﬁd\——@%EfEﬂﬁié&"Fﬁﬂﬁ %ﬁ&ﬂﬁ;ﬁ FERE @%‘J}E S

— 5 EE: &3S
1.137.5x13.4

2.09x%3.2
3.22.14x0.06

4.5.27X3.8

8
5. 1021x12

6.4 § % RUIBA Heeindh % 7 A st ke
1 5

4712

1

7.3 F Rk EEA Bk S A ko
1
8, %33

3
27 X1

8.+ ¥ F AN Gtk o o e
!
578

“JEFRE : (FRE A4 0 32364
1T‘iﬂ/§ﬁm§ﬁ7’fﬁq\; IR A A
20

2. - ResmE g F 12007
- BEEfe- REFEES S LTS

,_ggg:i"ﬁgq’ng_

> “5***“ —_‘\” LA 2€ CEE SN T P4k ]

Teppd g 40 o WEIEF R A 50

IR YR SRS SELDEEE T PO
A Lt LaE B LA RE LT
P)@*mﬁﬁfgm; IR B A

SP4LFS T gr k o A RN - BE 21 DA
10 24 ~ F 5 oAb B REE  TA W E 42
A 15 A R kAR 26 A k- S B H

g% E 2 ek 9

6. KNP IMePE ~F ~B A BHE 2004 16 24 ~15 o4 >
Sk - ok RiE P s 2880 F L ek i)~ ok 1S 0 B
2 DAk o BBk ak s Rk 5IR?

T4 - ) B dkig- BRIME 9L S FEAA -~ F 10
MBS MR BR R kG B R L6 A K
gk B RS TS S0 T3 REROMBE LS 2
AP

8. 1L B ASHERIA) o L0 PFHLML > = &) ABD
]’/‘Iﬁf\k_[_"i’—] ’_E"%-E}.:a-l82\/4v\°
A:
B/ D

(13K BD £ %5249
2)CD £ 55249




E-HEER:@EEEEXEL1S 0 #£2059)

1L # & 328 ehr > 8 M E( TR LT
A

2P ABla I pA-d XL - BEIH T
SR8 2 ( TR e

3.309 = > 24 =( )E

4% 9~ Z B0 T BiE 34560 ¢ fiot T B 16 B 0 1.239
o A ( ) °

5, T AN At B Rl 0.2 0] chgry o 1t 0.2 % e X o
(  )(1)0.2x0.3
( )(2)0.2x0.6
(  )(3)0.2x1.02
( )(4)0.2%0.99

6. — BE >Rk ME 28204 ~F 15 24~ KiF10 o4
r 33EAR R HUBIR( 2T Aok P ) KRR S 16 24
— FEAB TR R AR R( M

Tl b IRRRE A A - B ] R R g 3
[ ﬁ”m‘ﬁ?%ﬁm% BB PATRE 0 d § T
SEERT R > )

8.42 = = 2w =( LIPS

9.20000 == =( )

10,£520280aa~F 1o ~32amE 38 BT
( ;‘;ﬂ‘s;}/ﬂ\w;jf;{( Rl BN

AR AN

T i A =+ A
o~ [EEEE  (EEER 1S #£754)
L & B g o

1.

5+3=( )

)%»—%;}R

2. T & U ERHAER) 2 3 AR s
j{ o

(1) (2)

(3) (4)

() (6)

7 - BEEUEE : EEER15 #£135)
LT HY hh s LM )mEO 3 L X o

Cy () ()

2.7 Rl BAREAERA) o " Sfre RRE BB A

D ! E
u
(L)in ¥ 7 3B - B A PR EE( ) AB o
FELC ) -
(2)ir ¥ o MEI|s - B A PHHERTE( ) AB o
g )
3.7 Rl BASHAERA o m AT hEER o
p N\20cm
10cm i
C E
D
M£1E( H)rR- 2£23( &
QABHERT( )2A s FEERI( )2A o

(3)4r % iz B 1A, 1% & §.106 24 » 70 CD hE & &

( )aA  EDhEREL(  )aAh o



